260 Numeri¢ka rjeSenja zadataka

470  Sap=377N, Sge =533 N, Sgr =267 N.
471 8§ =-4KkN,S,=- 1,845, 5;=8,309 kN, Fp,=—-8 kN, Fp, = 6 kN, Fp = 10 kN,
Fy=8kN.

5 UVJETI RAVNOTEZE TIJELA KADA DJELUJE TRENJE

sin(a—¢,) sin(a+ ¢, )
F, ——— < <Q<LF, ———%, 1,892kN<Q<2472kN.
(S B (=S M Q=

cosa+ U, -sina

52 Q=F, =248N,gdjejeﬁ:%n.

53 F,=2113N.
54 F:,us-[ 20 +ng.
1 u,
55 Oma=406,6 N.
56 Oa<544N.
o e e -1
F e 41

1-2u.
58 F=0——l F 02430, Sop=0-(1-3u,)=010.

ets2®

5.7 x < x<035m.Za F=Q: x=0,4m.

_ﬂ.az—al-e"d
39 F= r l.(elld_l) :

510 a= arccos(%-sin gDSJ -, a=29,45°.

C

511 0, =0, ~cos(a+<ps)~snsli(na—2_(p%):67,2 N.
20y

A

512 af< arctan{us(l + H , a=arctan 0,5=26,565°,

F :QB‘M’ F, =33,54N.

cos @,
F /2
5.13 U ZM-tana, U, =0,433.
9
514 Fo=—— 0+ 0, ,FC:393,2N,FA:FC.M,

2F. -a-cosep,

AB=7m.
©,+0/2)sm2a” 27T

F, =1055N, a=26,565°, AB=




